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QUESTION NO: 1 
 
What is the maximum number of devices that a ROSA EM can manage?
 
 
 
A. 200 
B. 1000 
C. 2000 
D. 100 
 

Answer: B

Explanation:  
Reference: http://www.cisco.com/en/US/prod/collateral/video/ps9118/ps9128/7003710.pdf
 
 

 

 

QUESTION NO: 2 
 
What in a Cisco STB allows a service provider to change middleware to deployed STBs?
 
 
 
A. VQE client 
B. Two-Stage bootloader 
C. Linux operating system 
D. SAIL 2.0 
 

Answer: A

Explanation:  

 

 

QUESTION NO: 3 
 
What Cisco encoder model can encodeHD programsinto H.264?
 
 
 
A. D9054 
B. D9022 
C. D9500 
D. D9032 
 

Answer: A

Explanation:  
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QUESTION NO: 4 
 
What model can be used as an integrated streamer vault (ISV)?
 
 
 
A. CDE 420 
B. CDE 220 
C. CDE 100 
D. CDE 110 
 

Answer: B

Explanation:  

 

 

QUESTION NO: 5 
 
What Cisco encoder model can encode MPEG-2 and MPEG-4 SD simultaneously?
 
 
 
A. D9054 
B. D9034 
C. D9050 
D. D9022 
 

Answer: B

Explanation:  

 

 

QUESTION NO: 6 
 
What Cisco satellite receiverdoes not have an MPEGoIP output?
 
 
 
A. D9854 
B. D9850 
C. D9887 
D. D9844 
 

Answer: B

Explanation:  

 

 

QUESTION NO: 7 
 
How many devices can theCopernicusstandardversion manage before it is recommendedto move
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to the large database version?
 
 
 
A. 100 
B. 1000 
C. 200 
D. 2000 
 

Answer: B

Explanation:  

 

 

QUESTION NO: 8 
 
What Cisco Satellite receivercan decrypt1 PowerVu encryptedprogram and decode to HD-SDI?
 
 
 
A. D9854 
B. D9852 
C. D9844 
D. D9850 
 

Answer: D

Explanation:  

 

 

QUESTION NO: 9 
 
When is a co-processor card required for the DCM?
 
 
 
A. In order to RTP encapsulate or multiplex programs 
B. In order to do service selection or transport stream backup 
C. On every input card 
D. In order to translate, scramble or perform splicing 
 

Answer: D

Explanation:  

 

 

QUESTION NO: 10 
 
What is the nominal core bandwidth required for cache fill from the CDS vault to the streamers?
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